c
=
|
|

1

BRE (L)

\ 2 2 z P S 2 N 2 23 -
D - - 5 = 3 g = = e FEES| FniFE tp%2es

TITEL| nemenmets

B (A é 3 8 s S 2 5 ] 88
Eﬁ B (é ﬁ” ) % 2 § § § ? § 5 I WELEAT| Eamkzsnss

P

EFE R : : : B & % 7| *nm - wra [ ==

) ) ) ) ) ) ) L
T T T T T T T T L =/ ﬁﬁ \l* P’ E

Al & . s : J s T : : - = EL] % EHZEE

HI s s s s s S s s S

V22 IUTYY 2 & < g $ K] S g gg

tHRRRRER i




BRSHEKX=102. 872
FHEEREX=103. 012
R 0.11 m2
BEREL 0.04 m2
Hifal | 500| 3000 500 4 BT 014 n2 | t=140 2578
\ ‘ \ T e o ke
[ x B m_|t= s (13)
—
BRER
DL=99. 00 ‘
+40
BREX=101.987
FHESRER=102. 157
R 0.11 m2
L8l 500‘ SOPO ‘500 A4 BAEE DRER)
BikEL 0.14 m2 [t=140 ®E
TERE 3.10_m_|t=100 RC-30
‘ E3 & 3.00 m |t=40 As(13)
—
BRER
DL=99. 00 ‘
+20
RBEXR=100. 987
FHESRER=101.127
il 0.13 m2
L8l 500‘ sopo ‘500 214 BEEL ORI
AL 0.14 m2 [t=140 %&E
TR 3.10 m_|[t=100 RC-30
[ z & 3.00 m |t=40 As(13)
[
—_—
B
DL=99. 00 ‘
No. 0
IR X=100. 000
FHESHEEX=100. 000
BsREL | | BB OEE L =] 053 2
1L | 500 sopo 500/ 248 BEEL - w
Bkt 0.14 m2 |t=140 BE
TERE 3.10 m_|t=100 RC-30
‘ E3 B 3.00 m |t=40 As(13)
Ed B t=dom (B BHIEAS13)
TFERH  t=10cm(RC-30) AN
"A

DL=99. 00

DL=100.00 ___

DL=100.00 ___

DL=100.00 ___

DL=99. 00

L8l 500

No. 1+20

BUREEER=106. 920
ETEISREEX=107. 060

30p0

500 &4l

Q;

—

e

No. 1

TR X=105. 188
FHESREX=105. 328

{8l 500 30b0 500 =4l
| | |
BRER
|
+8
IR A% X=103. 896
FHEIEREX=104. 036
el 500 3000 500 &4
| |
—

HEHI 0.10 m2

BRREEL - m

BfAEL 0.14 m2|t=140 B8/
TR 3.10 m | t=100 RC-30
® B 3.00 m |t=40 As(13)
fdsl] 0.48 m2

ELYES 0.03 m2

BT 0.14 m2 | t=140 38/
TR 3.10 m | =100 RC-30
E3 ] 3.00 m |t=40 As(13)
[ 0.05 m2

BRREEL - m

Bkt 0.14 m2 | t=140 B8
TS 3.10 m | t=100 RC-30
® B 3.00 m |t=40 As(13)

EERE| snssx trg2ss

TITEL| ne@sguzrs

ELE| BRTAZATEE

X % B | wwE e
= iAEE2] %

e &8 ik B2 5 2 Bk 2R

o B B &




DL=100.00 ___

DL=99. 00

1L 500

No. 1+40
TR & X=109. 253
FHEfREX=109. 393

30p0

500 &4

1A 0.12 m2
BREREL - m
BB 0.14 m2
TREEE 310 m
E.3 B 3.00 m

t=140 BB
t=100 RC-30
t=40 As(13)

DL=100.00 ___

DL=99. 00

No. 1+60

ERBER-111.58]
stEFER=111.793 - i
BREREE T 0.21 m2
{8 500 30%0 500 28| BiE L 016 m
TR 310 m
‘ ® & 3.00 m

Z T

t=140 BE
t=100 RC-30
=40 As(13)

L8l 500

No. 1+62

BREER=111.932
EHEFHER=111.932

SOBO

500 #=4al

DL=100.00 __

DL=99. 00

HEHI 0.56 m2

BRREEL - m

BiAEL 0.14 m2 | t=140 P&/
T 3.10 m_|t=100 RC-30
% B 3.00 m |t=40 As(13)

EEEE| +nssxr krzess
TITEL| ne@sguzrs
e TE AT RETAZARNBE
X E 4 | wwm2 |f:j| =S
= AIEE)] E3) BZEE
= =5 S § 3
tHmEEBEER [ 7




